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from flask import Flask, jsonify

import sqlite3

app = Flask(__name__)



def get_bandwidth_data():
conn = sqlite3.connect('bandwidth.db')
cursor = conn.cursor()
cursor.execute ("SELECT * FROM bandwidth_usage")
data = cursor.fetchall()
conn.close()

return data

@app.route('/api/bandwidth', methods=['GET'])
def bandwidth():
data = get_bandwidth_data()

return jsonify(data)

if __name__ == '__main_ _':

app.run(debug=True)
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pip install Flask
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from flask import Flask, jsonify
from flask_cors import CORS

import subprocess

app = Flask(__name__)
CORS(app) # CORS

Q@app.route('/bandwidth', methods=['GET'])
def get_bandwidth():

# unstat 5 ethO

result = subprocess.run(['vnstat', '-i', 'ethO', '-5', '--json'], capture_output=True, text=True)

data = result.stdout

# JSON

return jsonify(data)

if __name__ == '__main__"':

app.run(host='0.0.0.0"', port=5000)
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<!DOCTYPE html>
<html lang="ar">
<head>
<meta charset="UTF-8">
<meta name="viewport" content="width=device-width, initial-scale=1.0">
<title> </title>
</head>
<body>
<hi1> </h1>

<div id="bandwidth-data"></div>

<script>
//
async function fetchBandwidthData() {
try {
const response = await fetch('/api/bandwidth');
const data = await response.json();
displayBandwidthData(data) ;
} catch (error) {

console.error (' : ', error);

/7
function displayBandwidthData(data) {
const bandwidthDataElement = document.getElementById('bandwidth-data');

bandwidthDataElement . innerHTML = ~

<p> : }$data.usedBandwidth} MB</p>
<p> : }$data.remainingBandwidth} MB</p>
<p> : }$data.totalBandwidth} MB</p>
}
//
fetchBandwidthData() ;
</script>



</body>

</html>
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document .addEventListener (' DOMContentLoaded', function () {
fetch('https://www.lzwjava.xyz/bandwidth')
.then(response => response.json())
.then(data => {

var bandwidthData = JSON.parse(data);

//

var timesContainer = document.createElement('div');

var currentUtcTime = new Date();

var currentLocalTime = new Date(currentUtcTime.getTime());

var pUtcTime = document.createElement('p');

pUtcTime.textContent = (UTC) : ${currentUtcTime.toUTCString()}";

timesContainer.appendChild (pUtcTime) ;

var pLocalTime = document.createElement('p');

pLocalTime.textContent = : ${currentLocalTime.toString()}";

timesContainer.appendChild(pLocalTime) ;
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document . getElementById('status') .appendChild(timesContainer) ;

//

var table = document.createElement('table');
table.border = '1"';
table.style.borderCollapse = 'collapse';

table.style.width = '100%';
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var thead = document.createElement('thead');



var tr = document.createElement('tr');

var headers = [' ', ' « 7 DA 'L

headers.forEach(headerText => {
var th = document.createElement('th');
th.textContent = headerText;
tr.appendChild(th) ;

b;

thead.appendChild(tr);

table.appendChild(thead) ;

//

var tbody = document.createElement('tbody');

//
var fiveMinuteData = bandwidthData.interfaces[0].traffic.fiveminute.reverse();
fiveMinuteData.forEach(interval => {

var tr = document.createElement('tr');

var dataTime = new Date(Date.UTC(interval.date.year, interval.date.month - 1, interval.date.day, interv

var timeDifference = Math.round((currentUtcTime - dataTime) / (1000 * 60)); //

var tdTimeDifference = document.createElement('td');
tdTimeDifference.textContent = timeDifference + ' '

tr.appendChild(tdTimeDifference) ;

var averageTraffic = (interval.rx + interval.tx) / 2; // RX TX

var tdTrafficKBs = document.createElement('td');

var traffickBs = (averageTraffic / (5 * 60 * 1024)).toFixed(2); // /
tdTrafficKBs.textContent = trafficKBs;

tr.appendChild (tdTrafficKBs) ;

var tdStatus = document.createElement('td');
tdStatus.textContent = trafficKBs > 5 7 ' ! '
tdStatus.className = trafficKBs > 5 7 'status-online' : 'status-offline';

tr.appendChild(tdStatus) ;

tbody.appendChild (tr);
IR
table.appendChild (tbody) ;



document . getElementById('status').appendChild(table);
b
.catch(error => {

console.error (' : ', error);
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